MCA2
Chapter 3 (Questions 1-40)

Chapter 4 (Questions 41-80)

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false. 

1) 


Organizational commitment is probably less important in predicting job satisfaction today than it was a generation ago.  

Your supervisor is trying to assess the degree to which those working for her are satisfied with their jobs. You are trying to gather information from your peers that might help her in her aim to improve job satisfaction.

2) 


You should advise your supervisor that there is renewed support for the satisfaction-performance relationship at the organizational level. 

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question. 

3) 


Festinger argued that cognitive dissonance is ________.  

A) 


physically painful  

B) 


exhausting  

C) 


confounding  

D) 


monotonous  

E) 


unpleasant  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false. 

4) 


According to Festinger, people seek consistency among their attitudes and their behaviors.  

5) 


If the elements creating dissonance are relatively unimportant, the pressure to correct this imbalance will be low.  

6) 


According to Festinger, people seek consistency among their attitudes.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question. 

7) 


Which of the following statements is not true about attitudes in the workplace?  

A) 


Attitudes give warnings of potential problems  

B) 


Changing employee attitudes is necessary if you are to manage dissonance.  

C) 


High pay alone is not likely to create a satisfying workplace.  

D) 


Attitudes help determine how well employees perform on the job  

E) 


Generating positive job attitudes helps lower absenteeism and turnover.  

8) 


The following are methods of measuring employee attitudes:

I.
a one-question global rating 

II.
a summation score made up of a number of job facets

III.
a 360° battery 

Which of these methods are the best to use in order to measure job satisfaction?  

A) 


I only  

B) 


II only  

C) 


III only
  

D) 


I and II are equally as good 

E) 


II or III are equally as good  

9) 


Which of the following statements would have been most likely made by an employee with a high degree of job involvement?  

A) 


"I love my job. It is engaging, pays well, and is low pressure, enough that I don't have to be always worrying about it in my time off."  

B) 


"I'm a harder worker than most of my colleagues, even to the degree I am carrying some of the lazier ones."  

C) 


"I enjoy working with my hands, so much so that on the days when my job requires me to actually physically build something time flies by without me even noticing it."  

D) 


"My skills make me exceptionally valuable to the company."  

E) 


"It felt great to get promoted; I guess the guys upstairs really did appreciate the way I had been running things."  

10) 


The following statements are about the relationship between job satisfaction and customer satisfaction for frontline employees who have regular customer contact:

I.
employee satisfaction is positively correlated to customer satisfaction 

II.
employee satisfaction has no correlation to customer satisfaction 

III. satisfied customers tend to raise employee satisfaction 

Which of these statements are true?  

A) 


I only  


B) 


II only  


C) 


III only  


D) 


I and III  


E) 


II and III  

11) 


Factors other than satisfaction that impact one's decision to leave a current job include all of the following except ________.  

A) 


length of tenure with the organization  

B) 


unionization  

C) 


expectations about alternative job opportunities  

D) 


organizational citizenship behavior  

E) 


labor market conditions  

12) 


The following answer choices are quotes from employees about their job at Healthy Eating, a chain of health food stores. Which quote most probably comes from an employee who has a great deal of organizational commitment?  

A) 


"I like the fact that in my role as a buyer for Healthy Eating I get to make choices about which food is good enough for us to sell."  

B) 


"Even though I only work in the produce department for now, it's good to know that the suggestions I make about how the store could be improved are heard and considered by my managers."  

C) 


"I am a great believer in the importance of a healthy diet, so I'm glad I am working for a company that is trying to make simple, healthy food available to all."  

D) 


"With the benefits it provides, it is vital for me to keep my job. In fact, I will stay with Healthy Eating for as long as I possibly can."  

E) 


"The challenging nature of the work and the thoughtful and generous way they treat their staff has made Healthy Eating the best place I have ever worked."  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false. 

Your supervisor is trying to assess the degree to which those working for her are satisfied with their jobs. You are trying to gather information from your peers that might help her in her aim to improve job satisfaction.

13) 


She will find that turnover and absenteeism are both negatively related to satisfaction, but the correlation is stronger for absenteeism than for turnover.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question. 

14) 


The belief that "violence is wrong" is an evaluative statement. Such an opinion constitutes the ________ component of an attitude.  

A) 


affective  


B) 


reactive  


C) 


reflective  


D) 


cognitive  


E) 


behavioral  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false. 

15) 


Superior performers who are dissatisfied are more likely to leave than poor performers who are dissatisfied.  

16) 


An increase in absenteeism is an example of dissatisfaction expressed through neglect.  

17) 


Organizational commitment is a more global response to the organization than is job satisfaction.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question. 

Employees at Acme Express are dissatisfied with working conditions, salary, and the general attitude of management. Mark, Susan, and Toni are good friends who work at Acme, yet each seems to be reacting differently to the problems at work.

18) 


Toni has decided that she'll just get a new job and get away from the problem. Toni is dealing with her dissatisfaction through ________.  

A) 


exit  


B) 


voice  


C) 


acceptance  


D) 


neglect  


E) 


loyalty  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false. 

19) 


High levels of job involvement related to higher absences.  

20) 


Attitudes are evaluative statements.  

21) 


The evidence indicates that satisfied employees increase customer satisfaction and loyalty.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question. 

22) 


Why should managers be interested in their employees' attitudes?  

A) 


They give warnings of potential problems.  

B) 


They are generally low.  

C) 


They cause problems.  

D) 


They result in cognitive dissonance.  

E) 


They result from behavior.  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false. 

23) 


In organizations, attitudes are important because they affect job behavior.  

24) 


If there is an inconsistency between an individual's attitude on a specific issue and his or her behavior, there are only two courses of action available-alter the attitude or alter the behavior.  

25) 


Research has concluded that people seek consistency among their attitudes but not between their attitudes and behavior.  

26) 


There are three components of an attitude: cognition, affect, and behavior.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question. 

27) 


Which of the following is not generally true?  

A) 


Enterprises with a greater percentage of satisfied workers are more effective than those with a smaller percentage of satisfied workers.  

B) 


Productive workers are satisfied workers.  

C) 


Satisfied workers are productive workers.  

D) 


Satisfaction is the major determinant of a worker's OCB.  

E) 


Satisfaction comes down to fairness of outcomes, treatments or procedures.  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false. 

28) 


Rewards can offset dissonance.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question. 

29) 


Maria is dissatisfied with the way that her manager treats her. She has quit her job and found a new position with another firm. She has expressed her dissatisfaction through ________.  

A) 


voice  


B) 


exit  


C) 


loyalty  


D) 


social voice 


E) 


neglect  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false. 

30) 


Cognitive dissonance explains the linkage between attitudes and behavior.  

31) 


Job involvement refers to an individual's general attitude toward his or her job.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question. 

32) 


Steve is unhappy with his job. He takes every possible vacation and sick day and sometimes shows up for work late. He is expressing his dissatisfaction through ________.  

A) 


loyalty  


B) 


exit  


C) 


neglect  


D) 


voice  


E) 


social voice  

33) 


Attending union meetings as a response to dissatisfaction would be what type of response?  

A) 


voice  


B) 


loyalty  


C) 


reification  


D) 


exit  


E) 


neglect  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false. 

34) 


Asking employees how they feel about key elements in a job, then adding the results to create an overall job satisfaction score is the single global rating approach to job satisfaction.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question. 

35) 


"Dissonance" means ________.  

A) 


constance  

B) 


resistance  

C) 


consistency  

D) 


reactance  

E) 


inconsistency  

36) 


The degree to which a person identifies with his or her job, actively participates in it, and considers his or her performance as being important to self-worth is ________.  

A) 


job stability  

B) 


social embeddedness  

C) 


organizational commitment  

D) 


job involvement  

E) 


job satisfaction  

Mrs. Jonas believes strongly that it is important that worker's rights be respected, and that one of the more important ways of doing this is to ensure that all workers be properly documented. She is supervising a contracting company that is building a new warehouse for her company. While doing this she discovers that many of the workers employed by the contractor are undocumented aliens working for well below minimum wage.

37) 


Mrs. Jonas is likely experiencing ________.  

A) 


unresolved anger  

B) 


ethical evasion  

C) 


social pressure  

D) 


uncertainty avoidance  

E) 


cognitive dissonance  

38) 


Job satisfaction is best described as ________.  

A) 


a valued discipline  

B) 


a result  

C) 


an attitude  

D) 


causing high performance  

E) 


a value  

39) 


The ________ component of an attitude is the emotional or feeling component of that attitude.  

A) 


reaffective  


B) 


behavioral  


C) 


evaluative  


D) 


cognitive  


E) 


affective  

Employees at Acme Express are dissatisfied with working conditions, salary, and the general attitude of management. Mark, Susan, and Toni are good friends who work at Acme, yet each seems to be reacting differently to the problems at work.

40) 


Susan has composed a list of concerns along with her suggestions for improving conditions. Susan is dealing with her dissatisfaction through ________.  

A) 


acceptance  


B) 


exit  


C) 


voice  


D) 


loyalty  


E) 


neglect  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false. 

41) 


An impressive body of research supports that five basic personality dimensions underlie all others.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question. 

42) 


What term is used for those who entered the U.S. work force from the mid-1960s through the mid-1980s?  

A) 


Nexters  

B) 


Boomers  

C) 


Traditionalists  

D) 


Xers  

E) 


Veterans  

43) 


Which of the following is not one of Hofstede's five dimensions of national culture?  

A) 


uncertainty avoidance  

B) 


flexibility versus rigidity  

C) 


long-term versus short-term orientation  

D) 


power distance  

E) 


individualism versus collectivism  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false. 

44) 


Zack is always moving and is impatient. He prefers work to leisure and seems obsessed with numbers. Zack probably has a Type B personality.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question. 

45) 


You are seeking to fill the position of corporate accountant, and have administered Holland's Vocational Preference Inventory questionnaire to all candidates. You would suspect that the questionnaire would indicate that the best candidates for the position would have which of the following personality types?  

A) 


conventional  

B) 


enterprising  

C) 


realistic  

D) 


social  

E) 


investigative  

46) 


What cohort of workers in the U.S. is most likely to balk at having to work extensive overtime and weekends?  

A) 


Traditionalists  

B) 


Veterans  

C) 


Nexters  

D) 


Xers  

E) 


Boomers  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false. 

47) 


Personality is part of the way in which an individual reacts to and interacts with others.  

48) 


Conscientiousness refers to an individual's propensity to defer to others.  

49) 


High self-monitors tend to pay less attention to the behavior of other people than do low self monitors.  

50) 


When we rank an individual's values in terms of the intensity of those values, we obtain that person's value system.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question. 

51) 


Which dimension of the Big Five model refers to an individual's propensity to defer to others?  

A) 


conscientiousness  

B) 


agreeableness  

C) 


extraversion  

D) 


emotional stability  

E) 


feeling  

You have just been promoted to manage a sales group. Your group is made up of ten people who range in age from 23 to 62. You have read that there are certain dominant work values for each age group and think that this may help you understand your group.

52) 


Amy is 50 years old. You are not surprised to find that she ________.  

A) 


prefers leisure time  

B) 


sees the company merely as a vehicle for her career  

C) 


highly values security  

D) 


desires financial success  

E) 


none of the above  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false. 

53) 


The GLOBE research program is an ongoing cross-cultural investigation of leadership and national culture.  

54) 


Personality looks at the parts of the person rather than the aggregate whole.  

55) 


A recent study of contemporary businesspeople who created extremely successful firms found that all of these individuals were NTs.  

56) 


The loyalty of Veterans is to their employers.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question. 

57) 


Which of the following statements about values is true?  

A) 


Values are fairly stable over time.  

B) 


Values change easily when they are called into question.  

C) 


Values are synonymous with attitudes.  

D) 


Values tend to be consistent among occupational groups.  

E) 


Values are flexible.  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false. 

58) 


A substantial body of research supports the MBTI as a valid measure of personality.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question. 

59) 


Which of the following is true of people with a Type A personality?  

A) 


They play for fun and relaxation.  

B) 


They are generally content with their place in the world.  

C) 


They tend to be more successful than people with a Type B personality.  

D) 


They generally feel little need to discuss their achievements.  

E) 


They measure their success in terms of how much of everything they acquire.  

60) 


Which of the following statements about the determinants of personality is true?  

A) 


Personality appears to be a result of both hereditary and environmental factors.  

B) 


Personality appears to have no determinants.  

C) 


Personality appears to be a result of external factors.  

D) 


Personality appears to be a result of mainly environmental factors.  

E) 


Personality appears to be a result of mainly hereditary factors.  

You have decided to use Holland's Typology of Personality and Congruent Occupations to help your friends who are college seniors recognize which jobs they would be well-suited for. Monica is shy, stable, and persistent. Neil is ambitious and energetic and likes to dominate conversations. Jessica is idealistic, impractical, and very imaginative. Walter is efficient and practical, but he lacks imagination and tends to be inflexible. Chris is an original thinker, with an analytical and independent intelligence.

61) 


Monica is majoring in interior design. Her personality type is "realistic" according to Holland's Typology. Which of the following statements is correct?  

A) 


Monica is better suited to be a bank teller.  

B) 


Interior design is incongruent with her personality type.  

C) 


Monica's personality type is well-suited to her major.  

D) 


Monica prefers physical to mental activities.  

E) 


Interior design is congruent with a "social" personality type.  

Mary Wood is a new manager. She recognizes that personality attributes can help to explain and predict employee behavior.

62) 


Mary has an opening for a position requiring a lot of face to face interaction with others. She should identify the employee with a(an) ________ for a good fit.  

A) 


external locus of control  

B) 


high self-monitoring tendency  

C) 


high SE  

D) 


low self-monitoring tendency  

E) 


internal locus of control  

You have decided to use Holland's Typology of Personality and Congruent Occupations to help your friends who are college seniors recognize which jobs they would be well-suited for. Monica is shy, stable, and persistent. Neil is ambitious and energetic and likes to dominate conversations. Jessica is idealistic, impractical, and very imaginative. Walter is efficient and practical, but he lacks imagination and tends to be inflexible. Chris is an original thinker, with an analytical and independent intelligence.

63) 


Which of your friends is most likely to find a successful career as a writer?  

A) 


Neil  


B) 


Jessica  


C) 


Walter  


D) 


Monica  


E) 


Chris  

64) 


A high score in which dimension of the Big Five model predicts good job performance for all occupational groups?  

A) 


openness to experience  

B) 


agreeableness  

C) 


extraversion  

D) 


emotional stability  

E) 


conscientiousness  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false. 

65) 


In the Myers-Briggs typology, N stands for intuitive.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question. 

66) 


Which of the following values would be most likely to be considered a terminal value by Rokeach?  

A) 


self-control  

B) 


broad-mindedness  

C) 


ambition  

D) 


helpfulness  

E) 


a sense of accomplishment  

67) 


Which of the following is most likely to be a country with high power distance?  

A) 


a collectivist country like Guatemala  

B) 


a long term oriented country like Japan  

C) 


an individualist country like Australia  

D) 


an uncertainty avoiding country like Uruguay  

E) 


a masculine country like Greece  

68) 


A high Mach would be most suited for which of the following positions?  

A) 


a manager who leads a team of geographically distant consultants  

B) 


a human resources manager who ensures staff firings do not place the company in legal jeopardy  

C) 


an auditor who checks that all company accounts are kept properly  

D) 


a real estate broker negotiating in the lease of large amounts of office space  

E) 


an ombudsman who investigates consumer complaints and mediates their outcome  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false. 

69) 


Janet keeps emotional distance from her coworkers and believes that the ends can justify the means. Janet would rate high in Machiavellianism.  

70) 


Low self-monitors show high behavioral consistency.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question. 

71) 


________ developed a Vocational Preference Inventory questionnaire that contains 160 occupational titles.  

A) 


Hofstede  


B) 


Holland  


C) 


Surber  


D) 


Maslow  


E) 


Herzberg  

72) 


Which of Hofstede's dimensions is the degree to which people in a country prefer structured to unstructured situations?  

A) 


uncertainty avoidance  

B) 


collectivism  

C) 


long-term orientation  

D) 


idiocentricity  

E) 


power distance  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false. 

73) 


Geert Hofstede produced a very widely referenced approach for analyzing variations among cultures.  

74) 


Individuals with Holland's "investigative" personality are well suited for careers as small business managers.  

75) 


The five personality factors identified in the Big Five Model appear in almost all cross-cultural studies.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question. 

76) 


Which dimension of the Big Five model is a measure of reliability?  

A) 


conscientiousness  

B) 


extraversion  

C) 


emotional stability  

D) 


agreeableness  

E) 


feeling  

77) 


Which of the following personality traits is most likely to help achieve career success?  

A) 


proactive  


B) 


extrovert  


C) 


agreeable  


D) 


high S.E  


E) 


Type A  

78) 


If personality characteristics were completely dictated by ________, they would be fixed at birth and no amount of experience could alter them.  

A) 


job satisfaction  

B) 


heredity  

C) 


environment  

D) 


religion  

E) 


situations  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false. 

79) 


People with Type A personalities tend to be creative.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question. 

80) 


In the U.S., employees in what age group are most likely to leave a job in mid-career to pursue another that provides more leisure time?  

A) 


30's  


B) 


50's  


C) 


60's  


D) 


40's  


E) 


20's  

